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P(x=2)= 35 = 0.375= 3797
p(x.—:z): g = 0.125 = 12.5 75
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Math 168
Kouba
Discrete Probability , Definitions

Let {x,.x5,X3,...,Xn} be m outcomes for a discrete random
variable, x ,and let p,,p5.p3...., Py be the associated
probabilities.

1) The MEAN .p,or EXPECTED VALUE , E(x), of xis

B=EX =x,p;+Xspp +Xgpgy - -+ XmPm .

2)) The VARIANCE , V(x), of x is

V) = (x1-W)2p +(Xo-1)2p o+ (X3-W)2pg+--+(Xpm-1)2p,,

3.) The STANDARD DEVIATION, T, ofxis T = YV(x) .



) m=Ex)= C)(5)+ 0)(5’ +(2
+6)(3)= 12 - ;5%(
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